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And according to X' who holds liable one who does a 777710 together
with the aR; why is it called an 2\, etc.

OVERVIEW

The ®7m3 asked that since X" is 2m» for a ARk op©a 77710, why are certain NDXRM
called ax and others called m72 0 (what difference does it make)? mooin offers an
answer, and discusses the different NIX07% in the s'k7Ax answer.

mooIn offers an alternate answer to the s'X3 question:
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The X713 could have answered that there is difference (which is the ax and
which is its 7791n) regarding warning one for doing a 717710 as I explained in p99

5173 99> -
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And one can say that indeed this is what the X answers, ‘these which were
N2OWm Jowna, etc.’ are called max and the others are M7,

n1voIN cites three NINO°) and their ramifications:
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Some texts read; ‘this 7oX%2 which was prominent in the J2w» is called an ax -
- 9N 1Y 2P NIPWUN 12UN2 NN XYT T

And this 75X%2 which was not prominent in the jow» is called a 77210’ -
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So according to this X0 (that only the prominent M2X?» which were in the 1own,
are called max), there are n1>x%» which were in the ow» like weeding and

watering plants which are not prominent N1oX%2, so they are not n12ax -
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And similarly if we are 913, ‘what was in the 19w» and is prominent, is called

an 2R’, the same applies that there are Mox>» that were in the 1own, but since they are not 21wn,
they are not called max -

' own 7"7. [There moon concludes that if he was 7 someone doing a 7720, not with its proper 2, but with a
different a8, he will not be 2>, for the 770 will assume that he is merely mocking him, since the 77710 which he is
doing, is not similar to the 2X.] See footnote # 2.
2 mpoin there (see footnote # 1) initially assumed that it is necessary to warn a 77210 specifically with its 2x (you are
transgressing this aR). We can therefore say that *2>wn jown2 min7 77 are called M2k and we need to be 77n» the
mMTn by specifically mentioning its particular a8. See 't "0 'R P11 (P28n) 2°% 7R "1 "1 for a detailed explanation.
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However if we are o713, ‘this 70852 which was in the 9w, it is 2wn and it is

called an 2N -
$19VNA 1N KXY MTHINA N1 295 NT9IN NY Y99 XYM XY JaUNa mNH X7 10

This 7oX%» which was not in the 12w, it is not 212 and it is called a 779 1n’;
according to this X093, the n1793n were not in the Jown.

SUMMARY
Depending on the 807, there may or may have not been m771n in the pwn.

THINKING IT OVER
1. Dvr apwnY wain are not listed among the MoXY1 v"%. Were they in the 1own? Are
they m71n?*

2. 701571 was definitely in the 1own; why is it a 77210 (according to the last Xo3)?!°

3 See ‘Thinking it over’ # 2.
4 See 1"u NIX 7 7900 WM NARDN DO AR,
5 See 0",
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